11435.10 Cover
11435.20 Asm

9157.10—~g

11800.20 (Red)
11801.20 (Gray)

\<480
o 11024.11

6618.20 10394.20
v

< 11087 " G — 11042
‘\\\‘“““ll|‘||||||l|“iu \ 2/1122PXH | 791210
"\'\‘.\i‘.‘\“llﬂ.“ul i 11467 E{ 1159255 H N (A

, X o1 8969

7990 Trimline
7849 STD ASM
10677.20 Mid Size ASM

& N\ + 11619.10 /7852.10
2 8675 9121

»

[

7441
DS
. 269002
10860.20 Trimline—/ 8300
11405.20 STD 513
10511 514
2237~ @9981 10

S~ 6505



Date

18-Jul-14

Revision
| Part # Description Qty/unit Part # Description Qty/unit |
1614 Washer .312 ID flat 2 10513 Mat standard 1
2237 Nut 3/8-24 hex 1 10514 Mat extended 1
3603 Nut 5/16-18 hex nylon 2 10516 Boot handle lower 1
6505 Screw 3/8-24 x 4.5 Lg 1 10554 Clip wire guide 1
6618.20 Basket bumpers w/rod 2 10677.20 Basket asm mid size 1
7361.22 Hall asm 11293 w/mod plug 5 pin 1 10692 Seat post asm upper and lower w/arms 1
7438 Wire asm circuit breaker to battery 1 10800.40 Sign operation & safety english/spanish 1
7441 Circuit breaker 25a auto reset 1 10860.20 Bracket trimline basket support 1
7541.20 Wheel 01.6" stability set 2 10863 Motor asm w/o brake 1
7849 Basket asm standard 1 10947 Wire controller interface 1
7852.10 Wire asm charger to controller 1 10976 Clip wire guide 7
7912.10 Wheel asm 09" rear 2 10984 Cover handle wire 1
7990 Basket trimline 1 11004.15 Enclosure w/rocker asm 1
8216 Charger 24v 03a 1 11005.15 Enclosure w/key asm 1
8300 Strap battery retaining 1 11024 AC receptable 1
8675 Ground wire assembly 1 11042 Drive asm 24v 1
8969 Handle cable mps control 1 11087 Brake asm w/microswitch 1
9121 Wire asm battery to controller 1 11302 Seat post upper and lower 1
9157.10 Seat switch after 7/1/05 1 11380 Housing enclosure (w/o 7361.22) 1
9161.10 Cover bumper surround 1 11405.20 Bracket basket support 1
11800.20  Cover SS red 1 11427 Screw carriage 1/4-20 x 2.5 Ig 4
11801.20  Cover SS gray 1 11435.10 Cover seat pvc free 1
9937.23 Column asm non-tilt 1 11435.20 Seat shopper pvc free 1
9981.10 Wheel 06" frt solid flat 1 11467 Handle plate back 1
10050 Bearing head set 1 11480 Cord ac power 1
10394.20  Basket strap and hardware 4 11619.1 Charger 24v 07a listed 1
10405.20  Bracket ac cord w/screws 1 269002 Battery 12v 33a 2
10408 Wire asm battery - to + 1 11292PX H  Controller SmartShopper Publix 1
10511 Fork front 1 11292SS H  Controller SmartShopper Standard 1



SMART SHOPPER #420000 (WIRING DIAGRAM)
DECEMBER 2010 — PRESENT

SEAT SWITCH (N.O.)
9157.10

CIRCUIT |
m\— BREAKER

7441

AC RECEPTACLE
11024

CHARGER
8216 OR 10100

CONTROLLER

7852.10

-

YELLOW—\
RED

_'\ s =
™ sLack —

Approvals C :Y/Q

@ . AMIGO MOBILITY INTERNATIONAL, INC.
' 6693 Dixie Highway « Bridgeport, Ml 48722-9725
3 W S Phone: (800) 248-9131 « Fax: (800) 334-7274 « www.myamigo.com

D lives Throud®



	Sheet1
	Drawing View1

	0138150 - present.pdf
	0138150 - present
	Smart Shopper Wiring Diagram September 2007 - Present
	Smart Shopper Lithium Battery Wiring Diagram May 2011 - Present


